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Deer Population in Tippecanoe county
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Deer Population Calculator

Need to consider the following factors:
Current-Year Population
Percentage of Does
Number of Fawns per Doe

Question:
What is the Next-Year Deer Population?
After a given number of years, what is the Deer
Population?
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Deer Population Calculator (cont.)

Given:
Current-Year Population, denoted as x
Percentage of Does, denoted as r
Number of Fawns per Doe, denoted as p

Answer:
Next-Year Deer Population :
x + x ∗ r ∗ p = x(1 + rp)

2nd-Year Deer Popoluation :
x + x ∗ r ∗ p + (x + x ∗ r ∗ p) ∗ r ∗ p = x(1 + rp)2

yth-Year Deer Popoluation : x(1 + rp)y
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Deer Population Calculator - Revisited

Need to consider more factors:
Current-Year Population
Percentage of Does
Number of Fawns per Doe
Death Rate
Maximum population supported by the ecosystem
Assume that if population crosses maximum, it will start
falling by 20% annually

Question:
What is the Next-Year Deer Population?
After a given number of years, what is the Deer
Population?
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Deer Population Calculator - Revisited(cont.)

Given:
Current-Year Population, denoted as x
Percentage of Does, denoted as r
Number of Fawns per Doe, denoted as p
Death Rate, denoted as d
Maximum population supported by the ecosystem,
denoted as M

Answer:
Next-Year Deer Population : Is simply
x + x ∗ r ∗ p − x ∗ d = x(1 + rp − d)?
2nd-Year Deer Popoluation : ?
yth-Year Deer Popoluation : ?
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Java Compilation and Interpretation
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Syntax Error

Occurs during Compilation step.
Can be discovered by javac command
Example:

Compile SyntaxError .java with:
javac week1/SyntaxError.java
Result:
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Runtime Error

Occurs during Interpretation step.
Can only be discovered when running Java program with
java command
There are many different types of Runtime Error, to name
just a few: Divided by Zero, Infinite Loop, etc.
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Runtime Error - Divided by Zero

Compile RuntimeError .java with:
javac week1/RuntimeError.java
Run: java week1.RuntimeError
Result:
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Runtime Error - Infinite Loop

Compile RuntimeError .java with:
javac week1/LogicalError.java
Run: java week1.LogicalError
Result:
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